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1 The height of a building is 310 metres, correct to the nearest metre.
Complete the error interval for the height of the building.
] m = = 6.§ M
3lo
v L
= os t0-5
3%4.¢ 3le-$
3’q‘s‘:n length < 3'0.5 m
(Total for Question 1 is 2 marks)

2 Work out (3.12 x 10¢) + (2.5 x 10*)

Give your answer in standard form.

0. 012q4¢%

-2
= 1.dyg ¥ 1lo

-2
. 4% x 10

(Total for Question 2 is 2 marks)
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3 Three buses, bus A, bus B and bus C, all use the same bus stop.
Bus A runs every 10 minutes. 0= -’( X 5
Bus B runs every 12 minutes.
Bus C runs every 14 minutes. 12 a X 2 3
14 =« ax7
All three buses are at the bus stop at 11 am.
What time will all three buses next be at the bus stop.
10 12 Lem = Ax2X 3x85x7]
‘ & " Q 0 ming
N ‘ 420 . 2 houms
—
o
¢ _rm
t‘f (Total for Question 3 is 3 marks)
4 The table gives information about the times taken, in seconds, by 20 students to run a race.
Time (t seconds) ﬂl.4 ' Ofn‘ Frequency “' _z__p
C
20 <¢ <25 gg,b 2 45
25 <kE<30 Q1. 10 2 76
0<t<35  38.g 5 1¢62. 5
35<¢<45 3
4o 120
Work out an estimate for the mean time. 2 © ‘ 0. 5
CEE—
€1z €e2-5 - 30.135
— =

3 o- , seconds

(Total for Question 4 is 3 marks)
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5 ABCDis a trapezium.

» > B
(2 +19)° 4 -57)°

G -6)°

D C
AB is parallel to DC
Find the size ol angle Bcp .

XL + 14t 3x-C = 1%0 £ Co- inteTiow
gx + r3 . Igo0 Q‘“Jlu qdd
5x = €7 te 1o )

xX = 33-4

L RBc = {x- 57
= 4(33.4)- 57
= 76 §°

. Bch< | 6o -16-¢°

= 103. 4
= 103. &

(Total for Question 5 is 4 marks)




6 (a) Complete the table of values for Y= T+20-y

-2 -1 0 1 2 3 4
X

yl=t 14 |7 ¢ 1 % |-t

2
(b) On the grid, draw the graph of y =7+ X -y forvalues of from-2to4

g |

10

=Y

(c) Use your graph to find estimates of the solutions of the equation 7+2xr—x* =0

-1.¢ & 2.¢
¥ -1.9 ¢ 3.9

(2)
(Total for Question 6 is 6 marks)




4 B

Josh drove 39 miles from Luton to Cambridge. S ' ¢ ‘4 e J" hﬂ!

He then drove 63 miles from Cambridge to Norwich.
CEEEE——

[ ]
timyg
Josh’s average speed from Luton to Cambridge was 32 miles per hour
Josh took 80 minutes to drive from Cambridge to Norwich. ‘ - d
-«
Work out Josh’s average speed for his total drive from Luton to Norwich. —s-

L 2 ¢

Tewme « 39 | -8 T hoUuars
32

= %2 . ¥ .3 heys
6o 5

— f o : a.552073 ® o 0,

Rvg. S = Told JI'SI-ML(4
Tole) dime

s 39+63

evaer . 39.9¢734... 4o

miles per hour

(Total for Question 7 is 4 marks)
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8 Milly invests £2000 in a savings account for 4 years.
She gets 3.9% per year compound interest.
Work out how much money Milly will have in her savings account at the end of 4 years.
Give your answer correct to the nearest pound.
] 3.9% incr
X000 ¥ (. 03q -q cese
l03-9 ~,
s 2330- 732
[= 1-039
. 233
(Total for Question 8 is 3 marks)
9 12.1 cm 3
I x (] L
ole-
7.5 cm
C

Work out the size of angle sAcC
Give your answer correct to 3 significant figures.

{an o = 7-5 Taw == ﬂ

TR hys-

SoH ¢Aw TohA

-1 7£')

X = {am 2|

T : 3¢9 s -

(Total for Question 9 is 2 marks)
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10 The diagram shows triangle ABC.

B

A

ADB is a straight line.

the size of angle BCD : the size of angle ACD=2: 3

Work out the size of angle AD(
CEEm—

LB¢a = (8o - ( S+ $3)

b s
At+3 =& Parks

s + s = ‘I'

LBcp . LAcp = A:3 = I8 27

_rn AAC”

LApc = 180 -(52 +21)

= ol
=

lo]

(Total for Question 10 is 4 marks)
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A company has 9 employees available to complete a job.
It is known that 7 employees can complete the job in 12 days.

Davina says that the 9 employees will be able to complete the job in less than 10 days.

Is Davina correct?
You must show all your working.

6« +q= 4.3 days

7x 1d = §4

Q.3 < lo fes

 a —

(Total for Question 11 is 3 marks)

12

The box plots show the time it took year 7 and year 11 students to travel to school on one day.

Year 7

Year 11

IQR: 2 -~ 10 2 16
m: 15
I ":”
|
0 10 20 30 40 50 60

J Q‘ & a’ - q .9 gime (minutes)

Compare the distribution of the times it took the year 7 and year 11 students to travel to school.

- The . ”‘ﬁéﬂ“ ............... dime . daKew
7 dake legs Hme  fo  4pauel.

Year

39eu-¢/r

= The I8 21 nye X

yv_ _ studends is

(Total for Question 12 is 2 marks)
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13 In a restaurant there are 7 starters, 9 main courses and 6 desserts on the menu.

Work out the total number of ways of choosing a starter, a main course and a dessert.

7% qQ¢ §
= 37¢

37¢

(Total for Question 13 is 2 marks)

14 ‘

<>
AQ

D

A, B ,C and Dare points on the circumference of a circle, centre .

Angle ADC=118°
Angle fRoc=2°

Work out the value of X
You must show all your working.

160" - UG = €Q (arfo.sik ungles iy
Cyc’ic auud. add

g0 )
X:62AxQ = |14
(Anglt & cemtor & Jwice 124

a“ "q l‘ a é Cllﬂlﬁ 2“ ‘ME {Total for Question 14 is 3 marks)
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The cumulative frequency graph gives information about the time, in seconds, each of 60 people took

to complete a puzzle.

A

x

60

50

40

Cumulative

Frequency /
30

y /

i

~

0 20 40

60 80

Time (seconds)

Use the graph to complete the frequency table to give information about the time, seconds, each of

the 60 people took to complete the puzzle.

100

Time taken Frequency

0<£<20 ¢

20 <E<40 lo

40 <4 <60 2 2

60 <t <80 12

80 <t <100 |
100 <£< 120 3

(Total for Question 15 is 2 marks)

120

Syl track

é—-0
1¢-~-¢
3¢-1I
o - 3%
s17-§%0
(o~ $7

/
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16 Here are 9 cards.
Each card has a number on it.

11121314151 |/6/||7]|8/|9

Emma takes two cards at random.
Work out the probability that the sum of the two cards is an odd number.

3// Even

w’/mﬂe\‘oclo{

f[1 Oﬂy €& ven
%
odd

f(EO) t+ P(0OF)
s ._lﬁt..s-'—) 1+ .£ xﬁ_
9 g 9 L 4
N R TR
= -— 5
72 72 72 =

y

(Total for Question 16 is 3 marks)
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17 (a) Using%,,,~ ‘ 6zh— 1

Wicho =5

(a) Find the values of X, X, and®; .

X, = J?ccr-: = J2q . 5-3¢5/64s

X = 5'38'51“1?‘7

x,-9:996€22293

X:= §.7013 %0 3 )
3)

(b) Explain the relationship between the values ofZ |, X, and(; and the equation ;{ —6x+1=0

22-."7 -]

e

1=\}¥€'x-l

'S D““:W'\S Yo TR Qq\(d-!oﬂ .

2
(Total for Question 17 is 5 marks)
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........ Toe accelelobion

The graph below shows the speed of a car, in metres per second, £seconds after it starts moving.
A
25
/
20 /
/
/
speed /
(metres per 15 /
second) /
10
/
5 S
|
— [
O - Il |
0 2 4 6 8 10
Time
( seconds)

(a) Calculate an estimate for the gradient of the graph when t=7
You must show how you get your answer.

(3"‘f 0) ( 7/ '°)

g, le-0 . 1o . a.q :
&7—3"' 3" 2.7

\

A3)

(b) Describe what the gradient in part (a) represents.

(1
(Total for Question 18 is 4 marks)
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- axtb \
Show that X . 3x 1 11 can be written in the form
Z-3 Zt3 z 2.9
whereq and | are integers. —

ax(xt3) _(Bx-0(x-3>, (¥¢3)(x-y

Cx-3)Cx+3) (2t 3) (X-3) (243 (x~3)

Q 2 y 3
AN f€_£3z-loz +34)-f- Z -9

';'_z_q z'l-q 2-2_(.,
2 2 2
< 272 46 - 37 tlox -3 - X + 9
z°- o
s bx~-12
.
29-

(Total for Question 19 is 4 marks)
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20  Here is a shape formed from two triangles ABC and CDE |
A and BCE are straight lines.

AC =12em BC=15ecm CC-=16cm CD=10cm
Angle fAC=78°

Work out the length of ._D_ G .
Give your answer correct to 3 significant figures.

simx _ Sm 7% Y=zi%0-(78 451 Gt
12 15

<50- 50828
Sy = 51:'57%’ xI12

s 0.7335...
x: siv' (p-78as..)
A 61. H4q...
g= b'?-,- c,z..;zbc Cos It
: 1024 162~ acro)tte) Cos ¢ S0-598:-)
- 154.¢9
Q= 18. 3487 Cw 12. 3 em

(Total for Question 20 is 5 marks)

\_ /




21 Solve algebraically the simultaneous equations

12+202=10 = (12

31—23=8 _(v
3x = Y+ ¢ Sub y m (37
z . 33*8 —(3) 9= 3.0

3

21’52 ?
(.‘L{_)f‘(y =)o

X< I-31

4‘1'?-& 32y + 64 + ayz 10
B 9

0+ 33y s CL+ 18y 90
Ja‘l:f? & 3&5 - & =0

"2':" 1y -13
Q- () Lb:lé6 ¢c=-(3

=D

y: - It 16%- yc) (-(3)
20(nD

:’ t0.5¢4 &
\J e ~2.03% (3‘051 0. S%')_. C"s‘, -20035)

(Total for Question 21 is 5 marks)
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A solid cube has a length of 4.8 cm, correct to 1 decimal place.

The cube has a mass of 220 grams, correct to 2 significant figures.

Work out the upper bound for the density of the cube.
Give your answer in g/cm? correct to 2 decimal places.

AtPo = UL/ W g7z
leﬂsi{y lowey Voluwwu

lowey (4.75)°>

Ve lymm s [o1. ITIS TS Cﬂg

ure  wmes = 225 4

D= 22 5
(07 [Tl

Q.10 7/ m3
2

o

2. 10

<:|§

(Total for Question 22 is 4 marks)

g/cm?
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23 The diagram shows quadrilateral OA 3 C

2a+3b

A

Sa :D

>
0 > C

/"}DB and 9D C are straight lines. Az s - 5 q ‘,' ‘ b

- - > =9
OA =5a Op:-6b HAc=2at3)bh A

p = 2(-5¢+ 65
Using a vector method, find the ratio AD : D) (3 + )

-

= s5at+ dat3b = a+3b
,q‘; 5 n'a'f-o‘,p : ﬂ-; 1 k(D-E')
c -b5et+ k(C72+ 35)
z -9at+ Tka + 3%b
Comrale a Com;&»&c b
-6z -5 +TK Gr = 3K

-51 = =5¢t 1(22)& K 2%
~5Z ¢ -6tk

5=192 s . b

T N TR 5.4

, q (Total for Question 23 is 5 marks)

TOTAL FOR PAPER IS 80 MARKS

N /




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20

